
MATHS

BOOKS - MODERN PUBLICATION MATHS (KANNADA

ENGLISH)

BINOMIAL THEOREM

Mcq S Level I

1. The total number of terms in the expansion of

 after simplification is

A. 102

B. 23

C. 26

(x + a)
51

− (x − a)
51

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TUdvwzvzTwWn


D. none of these

Answer: C

Watch Video Solution

2. If the coefficients of  in  are equal, then n

is

A. 56

B. 55

C. 45

D. 15

Answer: B

Watch Video Solution

x7 and x8 (2 + )
nx

3

https://dl.doubtnut.com/l/_TUdvwzvzTwWn
https://dl.doubtnut.com/l/_uzHgYNLET9Lf


3. If  , then 

 equals

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 + x + x2)
n

= a0 + a1x + a2x2 + … + a2nx2n

a0 + a2 + a4 + … + a2n

3n + 1
2

3n − 1
2

1 − 3n

2

3n +
1

2

4. The coefficients of  (p and q are positive integers in

the expansion of  are:

A. equal

xp and xq

(1 + x)p + q

https://dl.doubtnut.com/l/_kFg3N2gHrAwm
https://dl.doubtnut.com/l/_9Ydq8bK28Ln4


B. equal with opposite sign

C. reciprocal of each other

D. none of these

Answer: A

Watch Video Solution

5. The number of terms in the expansion of  where 

 is:

A. 

B. 

C. 

D. .

(a + b + c)n,

n ∈ N

(n + 1)(n + 2)

2

n + 1

n + 2

(n + 1)n

https://dl.doubtnut.com/l/_9Ydq8bK28Ln4
https://dl.doubtnut.com/l/_7wgTo7ze4dpO


Answer: A

Watch Video Solution

6. The ratio of the coefficient of  to the term independent of x

in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x15

(x2 + )
15

2

x

12: 32

1: 32

32: 12

31: 1

https://dl.doubtnut.com/l/_7wgTo7ze4dpO
https://dl.doubtnut.com/l/_JS9GL01BZjQJ


7. If , then:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

z = ( + )

5

+ ( − )

5
√3
2

i

2

√3
2

i

2

Rc(z) = 0

Im(z) = 0

Re(z) > 0, Im(z) > 0

Re(z) > 0, Im(z) < 0

8. The total number of terms in the expansion of

 after simplification is

A. 50

B. 202

(x + a)
100

+ (x − a)
100

https://dl.doubtnut.com/l/_PUGYXCh1g8pI
https://dl.doubtnut.com/l/_2LVQbMj0ik9W


C. 51

D. none of these

Answer: C

Watch Video Solution

9. Given the integers  and coefficients of (3r)th and

(r+2)nd terms in the binomial expansion of  are equal,

then:

A. n=2r

B. n=3r

C. n=2r+1

D. none of these

r > 1, n > 2

(1 + x)2n

https://dl.doubtnut.com/l/_2LVQbMj0ik9W
https://dl.doubtnut.com/l/_nzxa2ZTPNxD3


Answer: A

Watch Video Solution

10. The two successive terms in the expansion of  whose

coefficients are in the ratio 1:4 are

A. 3rd and 4th

B. 4th and 5th

C. 5th and 6th

D. 6th and 7th

Answer: C

Watch Video Solution

(1 + x)24

https://dl.doubtnut.com/l/_nzxa2ZTPNxD3
https://dl.doubtnut.com/l/_CGFlg5LOwfRn


11. The coefficients of  in the expansion of 

 are in the ratio

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

xn

(1 + x)2n and (1 + x)2n − 1

1: 2

1: 3

3: 1

2: 1

12. If the coefficients of 2nd, 3rd and 4th terms in the expansion

of  are in A.P., then the value of n is:

A. 2

(1 + x)n

https://dl.doubtnut.com/l/_Rk739MrPGwqs
https://dl.doubtnut.com/l/_dfImvbOraOKv


B. 7

C. 11

D. 14

Answer: B

Watch Video Solution

13. If A and B are coefficients of  in the expansion of 

 respectively, then  equals:

A. 1

B. 2

C. 

D. 

xn

(1 + x)
2n

and (1 + x)
2n − 1 A

B

1

2

1

n

https://dl.doubtnut.com/l/_dfImvbOraOKv
https://dl.doubtnut.com/l/_ynMAnskctLNS


Answer: B

Watch Video Solution

14. If the middle term of  is equal to  then

value of x is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( + x sin x)
10

1

x
7

7

8

2nπ +
π

6

nπ +
π

6

nπ + ( − 1)
n π

6

nπ + ( − 1)
n π

3

https://dl.doubtnut.com/l/_ynMAnskctLNS
https://dl.doubtnut.com/l/_6Kmdl3TnKRjh


15. The number of terms in the expansion of

 is:

A. 8

B. 9

C. 19

D. 24

Answer: C

Watch Video Solution

(1 + 3x + 3x2 + x3)
6

16. The number of terms in the expansion of

 is

A. 100

(1 + 5x + 10x2 + 10x3 + 5x4 + x5)
20

https://dl.doubtnut.com/l/_8SEfAvZKIr7i
https://dl.doubtnut.com/l/_vyb1RYYFbuzh


B. 101

C. 120

D. none of these

Answer: B

Watch Video Solution

17. The number of terms in  is:

A. 302

B. 301

C. 202

D. 101

Answer: C

(1 + x)101(1 + x2 − x)
100

https://dl.doubtnut.com/l/_vyb1RYYFbuzh
https://dl.doubtnut.com/l/_67JSsszPa2Yl


Watch Video Solution

18. The number of integral terms in the expanion of

 is

A. 106

B. 108

C. 103

D. 109

Answer: B

Watch Video Solution

(51 / 2 + 71 / 6)
642

19. The number of non-zero terms in the expansion of

 is(1 + 3√2x)
9

+ (1 − 3√2x)
9

https://dl.doubtnut.com/l/_67JSsszPa2Yl
https://dl.doubtnut.com/l/_i88DVMWtvspx
https://dl.doubtnut.com/l/_kzcGLfmtbalx


A. 9

B. 0

C. 5

D. 10

Answer: C

Watch Video Solution

20. The 5th term from the end in the expansion of 

is

A. 

B. 

C. 

D. 

( − )
12

x3

2

2

x

7920

x4

−
7920

x4

7920x4

−7920x4

https://dl.doubtnut.com/l/_kzcGLfmtbalx
https://dl.doubtnut.com/l/_vIEqRGG0AOuq


Answer: C

Watch Video Solution

21. The unit digit of  is

A. 1

B. 2

C. 3

D. 0

Answer: A

Watch Video Solution

171983 + 111983 − 71983

https://dl.doubtnut.com/l/_vIEqRGG0AOuq
https://dl.doubtnut.com/l/_wof4BsPyg7pI


22. If the coefficient of  in the expansion of 

is equal to the coefficient of  in , then ab

equals:

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

x7 (ax2 + b− 1x − 1)
11

x − 7 (ax − b− 1x − 2)
11

23. The coefficient of  in 


 is:

x17

(x − 1)(x − 2)(x − 3). . . (x − 18)

https://dl.doubtnut.com/l/_r1Ezcj4suqhR
https://dl.doubtnut.com/l/_KsQgRDRr5uW9


A. 342

B. 

C. 

D. 684

Answer: C

Watch Video Solution

171
2

−171

24. The greatest integer which divides the number  is:

A. 100

B. 1000

C. 10000

D. 100000

101100 − 1

https://dl.doubtnut.com/l/_KsQgRDRr5uW9
https://dl.doubtnut.com/l/_DYmSfdwgRZbY


Answer: C

Watch Video Solution

25. The coefficient of  in the expansion of 

 is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

xk

1 + (1 + x) + (1 + x)2 + . . . + (1 + x)n

nCk

n + 1Ck

n + 1Ck + 1

https://dl.doubtnut.com/l/_DYmSfdwgRZbY
https://dl.doubtnut.com/l/_ngrDUFpqE1bf


26. The coefficient of  in 


 is

A. 1+2+3+ . . .+99

B. 1+3+5+ . . .+199

C. 1.3.5 . . .199

D. none of these

Answer: B

Watch Video Solution

x99

(x + 1)(x + 3)(x + 5). . . (x + 199)

27. If in the expansion of  are three consecutive

coefficients, then n equals

A. 

(1 + x)n, a, b, c

ac + ab + bc

b2 + ac

https://dl.doubtnut.com/l/_0XqTwHLLtaOM
https://dl.doubtnut.com/l/_xRppIEjGEFae


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

2ac + ab + bc

b2 − ac

ab + ac

b2 − ac

28. If , then the value of 

 is

A. 2,4

B. 2,3

C. 3,6

D. 1,2

(1 + αx)n = 1 + 8x + 24x2 + . . .

α and n

https://dl.doubtnut.com/l/_xRppIEjGEFae
https://dl.doubtnut.com/l/_fFutgNW3vewE


Answer: B

Watch Video Solution

29. Sum of all coefficients in the binomial expansion of

 is

A. 1

B. 2

C. 

D. 0

Answer: C

Watch Video Solution

(x2 + x − 3)
319

−1

https://dl.doubtnut.com/l/_fFutgNW3vewE
https://dl.doubtnut.com/l/_iNC8wxKEeu5N


30. If the coefficient of  in  are equal, then n

is

A. 56

B. 55

C. 45

D. 15

Answer: B

Watch Video Solution

x7 and x8 (2 + )
nx

3

31. Sum of coefficient of even powers of x in the expansion of

 is:

A. 256

(1 + x + x2 + x3)
5

https://dl.doubtnut.com/l/_lPADOWWALBUC
https://dl.doubtnut.com/l/_b4gtnGjI1MKc


B. 128

C. 512

D. 64

Answer: C

Watch Video Solution

32. In a binomial expansion  is a positive integer, the

coefficients of 5th, 6th and 7th terms are in A.P., then the value of

n is

A. 7

B. 5

C. 3

D. 10

(1 + x)n, n

https://dl.doubtnut.com/l/_b4gtnGjI1MKc
https://dl.doubtnut.com/l/_IQgdy3twmPWi


Answer: D

Watch Video Solution

33. In the expansion of , the sum of the coefficients of

odd powers of x is :

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1 + x)50

249

250

251

https://dl.doubtnut.com/l/_IQgdy3twmPWi
https://dl.doubtnut.com/l/_5LEOha3FEev1


34. If in the expansion of  represent the sum

of odd and even terms respectively, then  equals

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(a + x)n, P and Q

P 2 − Q2

(a2 − x2)
n

(a2 − x2)
2n

(a2 + x2)
2n

(a2 + x2)
n

35. The coefficient of  in the expansion of 


 is:

A. 

x4

(1 + x + x2 + x3)
n

nC4

https://dl.doubtnut.com/l/_i7MUoyPFGcpw
https://dl.doubtnut.com/l/_jD5w45KNqNKj


B. 

C. 

D. 

Answer: D

Watch Video Solution

nC4 + nC2

nC4 + nC2 + nC4 ⋅ nC2

nC4 + nC2 + nC1 ⋅ nC2

36. Which one is correct?

A. 

B. 

C. 

D. 

Answer: A

(1999)2000 > (2000)1999

(1998)1999 < (1999)1998

(100)41 < (101)40

2625 < 2526

https://dl.doubtnut.com/l/_jD5w45KNqNKj
https://dl.doubtnut.com/l/_QjXoFZUT74Q7


View Text Solution

37. The value of: 

 is:

A. 15

B. 

C. 0

D. 51

Answer: C

Watch Video Solution

15C 2
0 − 15C 2

1 + 15C 2
2 − . . . − 15C 2

15

−15

38. The value of 

 is:C0 + 3C1 + 5C2 + 7C3 + . . . + (2n + 1)Cn

https://dl.doubtnut.com/l/_QjXoFZUT74Q7
https://dl.doubtnut.com/l/_3NszyABIzKbs
https://dl.doubtnut.com/l/_2mo143Fl5tJQ


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

2n

2n + n.2n − 1

(n + 1).2n

39. The value of 

 is

A. 

B. 

C. 

D. 

C1 + 4C2 + 7C3 + . . . + (3n − 2)Cn

(3n − 4)2n + 1

(3n − 4)2n − 1 + 2

(3n − 4)2n

(3n − 4)2n − 1 + 1

https://dl.doubtnut.com/l/_2mo143Fl5tJQ
https://dl.doubtnut.com/l/_Djf4Du8Gl7PF


Answer: B

Watch Video Solution

40.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C0 − C1 + C2 − C3 + . . . + ( − 1)n
Cn

2n

2n − 1

0

2n − 1

41.  . . . Equals:+ + +
1

1!(n − 1) !

1

3!(n − 3) !

1

5!(n − 5) !

https://dl.doubtnut.com/l/_Djf4Du8Gl7PF
https://dl.doubtnut.com/l/_xXiIqm5i9SQF
https://dl.doubtnut.com/l/_Vtxkrb1voB9M


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

2n

n !

2n − 1

n !

0

42. The middle term in the expansion of  is:

A. 

B. 

C. 

D. 

(1 + x)2n

xn
(2n) !

n !

xn + 1(2n) !

n !(n − 1) !

xn
(2n) !

(n !)2

xn
(2n) !

(n + 1) !(n − 1) !

https://dl.doubtnut.com/l/_Vtxkrb1voB9M
https://dl.doubtnut.com/l/_ickZwKnWe3Gw


Answer: A

Watch Video Solution

43. The middle term in the expansion of , is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(x + )
2n

1

2x

1.3.5. . . . (2n − 3)

n !

1.3.5. . . . (2n − 1)

n !

1.3.5. . . (2n + 1)

n !

44. Middle term in the expansion of  is(1 + 3x + 3x2 + x3)
6

https://dl.doubtnut.com/l/_ickZwKnWe3Gw
https://dl.doubtnut.com/l/_8YlGsrnfi8KM
https://dl.doubtnut.com/l/_IEuPXXBUJuXF


A. 4th

B. 3rd

C. 10th

D. none of these

Answer: C

Watch Video Solution

45. Coefficient of the term independent of x in  is

A. 4320

B. 216

C. 

D. 

(2x − )
6

3

x

−216

−4320

https://dl.doubtnut.com/l/_IEuPXXBUJuXF
https://dl.doubtnut.com/l/_ovSkRYAgpmbP


Answer: D

Watch Video Solution

46. The fourth term in binomial expansion of  in

independent of x, when n is equal to:

A. 2

B. 3

C. 4

D. none of these

Answer: D

Watch Video Solution

(x2 − )
n1

x3

https://dl.doubtnut.com/l/_ovSkRYAgpmbP
https://dl.doubtnut.com/l/_amysywtrhTbF


47. In the expansion of  for positive integer n has a

term independent of x, then n is

A. 23

B. 18

C. 16

D. 0

Answer: B

Watch Video Solution

(x2 + )
n2

x

48. The term independent of x in the expansion of 

is:

A. 

(2x + )
6

1

3x

160

9

https://dl.doubtnut.com/l/_sW06tOi6Hd5X
https://dl.doubtnut.com/l/_xRqKw4QGDY89


B. 

C. 

D. 

Answer: C

Watch Video Solution

80

9

160

27

80

3

49. If the expansion of  for positive integer n has

13th term independennt of x, then the sum of divisors of n is:

A. 36

B. 38

C. 39

D. 32

(x2 + )
n2

x

https://dl.doubtnut.com/l/_xRqKw4QGDY89
https://dl.doubtnut.com/l/_XFaUYy7AfiPb


Answer: C

Watch Video Solution

50. If , then the greatest term in the expansion of 

 is the

A. 4th term

B. 5th term

C. 6th term

D. 3rd term

Answer: C

Watch Video Solution

x =
1

3

(1 + 4x)8

https://dl.doubtnut.com/l/_XFaUYy7AfiPb
https://dl.doubtnut.com/l/_pF21bUQ1lffP


51. The largest term in the expansion of  where 

is:

A. 5th

B. 51st

C. 7th

D. 6th

Answer: C

Watch Video Solution

(3 + 2x)50
x =

1

5

52. The greatest coefficient in the expansion of  is:

A. 

B. 

(1 + x)2n + 2

(2n) !

(n !)2

(2n + 2) !

[(n + 1) !]2

https://dl.doubtnut.com/l/_dq8xZ7lZO1Bq
https://dl.doubtnut.com/l/_3yKB4foRcSZA


C. 

D. 

Answer: B

Watch Video Solution

(2n + 2) !

n !(n + 1) !

(2n) !

n !(n + 1) !

53. Let  for . Then  is greatest when:

A. n=997

B. n=998

C. n=999

D. n=996

Answer: C

Watch Video Solution

an =
1000n

n !
n ∈ N an

https://dl.doubtnut.com/l/_3yKB4foRcSZA
https://dl.doubtnut.com/l/_QuUKSOVjb0l2


54. If x is nearly equal to 1, then:  equals:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

mxm − nxn

m − n

xm+ n

xm− n

xm

xn

55. Remainder when  is divided by 125 is:

A. 17

B. 125

7103

https://dl.doubtnut.com/l/_QuUKSOVjb0l2
https://dl.doubtnut.com/l/_Yc5G0GFuPc9j
https://dl.doubtnut.com/l/_g5hIsYd6pKxB


C. 118

D. 19

Answer: C

Watch Video Solution

56. In the expansion of the following expression: 

, the coefficient of 

 is:

A. 

B. 

C. 

D. none of these

1 + (1 + x) + (1 + x)2 + . . . + (1 + x)n

xk(0 ≤ k ≤ n)

n + 1Ck + 1

nCk

nCn − k − 1

https://dl.doubtnut.com/l/_g5hIsYd6pKxB
https://dl.doubtnut.com/l/_VBb3FtDP0Ck9


Answer: A

Watch Video Solution

57. Let n be an odd natural number of greater than 1. then the

number of zeros at the end of the sum  is:

A. 3

B. 4

C. 2

D. none of these

Answer: A

Watch Video Solution

999n + 1

https://dl.doubtnut.com/l/_VBb3FtDP0Ck9
https://dl.doubtnut.com/l/_PX8RehM4XG35


58.  is divisible by

A. 100

B. 101

C. 99

D. 1001

Answer: A

Watch Video Solution

101100 − 1

59. If the seventh terms from the beginning and the end in the

expansion of  are equal, then n equals:

A. 9

B. 12

( 3√2 + )

n
1

3√2

https://dl.doubtnut.com/l/_NSgX6MVUppXy
https://dl.doubtnut.com/l/_EcJE3hPygIEU


C. 15

D. 18

Answer: B

Watch Video Solution

60. If {x} denotes the fractional part of x, then  is:

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

{ }, n ∈ N
32n

8

3

8

7
8

1

8

https://dl.doubtnut.com/l/_EcJE3hPygIEU
https://dl.doubtnut.com/l/_FleoGGcDolgg


61. The number of terms whose values depend on x in the

expansion of  is:

A. 2n+1

B. 2n

C. n

D. none of these

Answer: B

Watch Video Solution

(x2 − 2 + )
n

1

x2

62. The coefficient of  in the expansion of  is

A. 10

x3 (1 − x + x2)
5

https://dl.doubtnut.com/l/_FleoGGcDolgg
https://dl.doubtnut.com/l/_ulyupsiKxrdo
https://dl.doubtnut.com/l/_rEc2JsNwOiNi


B. 

C. 

D. 

Answer: D

Watch Video Solution

−20

−50

−30

63. The coefficient of  in: 


 is:

A. 

B. 

C. 

D. none of these

x6

[(1 + x)6 + (1 + x)7 + . . . + (1 + x)15]

16C9

16C5 − 6C5

16C6 − 1

https://dl.doubtnut.com/l/_rEc2JsNwOiNi
https://dl.doubtnut.com/l/_RNgoaFKS3xYT


Answer: A

Watch Video Solution

64. If the rth term is the middle term in the expansion of

, then the (r+3)th term is:

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(x2 − )
20

1

2x

20C14 ⋅ ⋅ x
1

214

20C12 ⋅ ⋅ x21

212

− ⋅ 20C7 ⋅ x
1

213

https://dl.doubtnut.com/l/_RNgoaFKS3xYT
https://dl.doubtnut.com/l/_3u7bKTlVhHAl


65. The sum of last ten coefficients in the expansion 

of  when expanded in ascending powers of  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(1 + x)19
x

218

219

218 − 19C10

66. The sum

 equals:

A. 

10C0 − 10C1 + 2. 10C2 − 22 ⋅ 10C3 + . . . + 29 ⋅ 10C10
1

2

1

2

https://dl.doubtnut.com/l/_xiEpZIXdOKMV
https://dl.doubtnut.com/l/_7wevHMn2OFLN


B. 0

C. 

D. none of these

Answer: A

Watch Video Solution

⋅ 3101

2

67. For 

A. 

B. 

C. 

D. 

Answer: D

2 ≤ r ≤ n, (
n

r
) + 2(

n

r − 1
)(

n

r − 2
) =

(
n + 1

r − 1
)

2(
n + 1

r + 1
)

2(
n + 2

r
)

(
n + 2

r
)

https://dl.doubtnut.com/l/_7wevHMn2OFLN
https://dl.doubtnut.com/l/_o9DE54vxJpxo


Watch Video Solution

68. The coefficient of  in  is:

A. 21

B. 25

C. 26

D. none of these

Answer: D

Watch Video Solution

x5 (1 + 2x + 3x2 + . . . )
− 3 / 2

69. If  then coefficient of  in expansion of: 

 is

|x| < 1, xn

(1 + x + x2 + x3 + . . . )
2

https://dl.doubtnut.com/l/_o9DE54vxJpxo
https://dl.doubtnut.com/l/_GCTHJzs0S87S
https://dl.doubtnut.com/l/_lnXs6nwYx2to


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

n

n − 1

n + 2

n + 1

70. The sum  (where , if ) is

maximum, when m is:

A. 5

B. 10

C. 15

D. 20

m

∑
i = 0

(
10

i
)(

20

m − i
) ( ) = 0

p

q
p < q

https://dl.doubtnut.com/l/_lnXs6nwYx2to
https://dl.doubtnut.com/l/_HYamS480m12F


Answer: C

Watch Video Solution

71. The number of integral terms in the expansion of

 is

A. 33

B. 34

C. 35

D. 32

Answer: A

Watch Video Solution

(√3 + 8√5)
256

https://dl.doubtnut.com/l/_HYamS480m12F
https://dl.doubtnut.com/l/_mjjDb1Z9GPpF


72. If x is positive, the first negative term in the expansion of

 is:

A. 5th term

B. 8th term

C. 6th term

D. 7th term

Answer: B

Watch Video Solution

(1 + x)27 / 5

73. Coefficient of  in  is:

A. 

B. 

t24 (1 + t2)
12
(1 + t12)(1 + t24)

12C5 + 3

12C6 + 1

https://dl.doubtnut.com/l/_NBmpOgB1fCFW
https://dl.doubtnut.com/l/_FpGtdBBHtc3R


C. 

D. 

Answer: D

Watch Video Solution

12C6

12C6 + 2

74. The coeffient of the middle term in the binomial expansion in

powers of x of  and of  is the same of 

equals:

A. 

B. 

C. 

D. 

(1 + αx)4 (1 − αx)6
α

−
5

3

10

3

−
3

10

3

5

https://dl.doubtnut.com/l/_FpGtdBBHtc3R
https://dl.doubtnut.com/l/_YS9StffSGykb


Mcq S Level Ii

Answer: C

Watch Video Solution

75. The coefficient of  in the expansion of  is

A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

xn (1 + x)(1 − x)n

n − 1

( − 1)n(1 + n)

( − 1)n − 1(n − 1)2

( − 1)n − 1
n

https://dl.doubtnut.com/l/_YS9StffSGykb
https://dl.doubtnut.com/l/_qrVYnXgPvmev
https://dl.doubtnut.com/l/_s3z8WghZ14i1


1. If 7 divides , the remainder is:

A. 1

B. 0

C. 4

D. 6

Answer: C

Watch Video Solution

323232

2. The number of terms free from radical sign in the expansion of

 is:

A. 1

B. 6

(1 + 31 / 3 + 71 / 7)
10

https://dl.doubtnut.com/l/_s3z8WghZ14i1
https://dl.doubtnut.com/l/_6Oo4a4Vd3KFX


C. 11

D. none of these

Answer: B

Watch Video Solution

3. The number of irrational terms in the expansion of

 is:

A. 97

B. 98

C. 96

D. 99

Answer: A

W h Vid S l i

( 8√5 + 6√2)
100

https://dl.doubtnut.com/l/_6Oo4a4Vd3KFX
https://dl.doubtnut.com/l/_pCRkL2LBjWV6


Watch Video Solution

4. The number of rational terms in the expansion of

 is:

A. 6

B. 7

C. 5

D. 8

Answer: B

Watch Video Solution

(1 + √2 + 3√3)
6

5. If , then  equals:x + y = 1
n

∑
r= 0

r2nCrx
ryn − r

https://dl.doubtnut.com/l/_pCRkL2LBjWV6
https://dl.doubtnut.com/l/_iZzO81fsvqJ6
https://dl.doubtnut.com/l/_HY1WccuhGprT


A. nxy

B. nx(n+ny)

C. nx(nx+y)

D. none of these

Answer: C

Watch Video Solution

6. If n is a positive integer, which of the following two will always

be integers: 

(I)  


(II)  

(III)  


(IV) 

(√2 + 1)
2n

+ (√2 − 1)
2n

(√2 + 1)
2n

− (√2 − 1)
2n

(√2 + 1)
2n + 1

+ (√2 − 1)
2n + 1

(√2 + 1)
2n + 1

− (√2 − 1)
2n + 1

https://dl.doubtnut.com/l/_HY1WccuhGprT
https://dl.doubtnut.com/l/_toh1ph3r0tRk


A. Only I and II

B. Only I and III

C. Only I and IV

D. Only II and III

Answer: C

Watch Video Solution

7. The value of x for which the sixth term in the expansion of 

 is 84, is

A. 4

B. 3

C. 2

D. 5

[2
log2 (√9x − 1 + 7)

+
1

21 / 5 log2 (3x − 1 + 1 )

https://dl.doubtnut.com/l/_toh1ph3r0tRk
https://dl.doubtnut.com/l/_nwZ3VxWpY0cY


Answer: C

Watch Video Solution

8. If the third term in , is , then x may be:

A. 1

B. 10

C. 

D. 

Answer: B

Watch Video Solution

(x + xlog10 x)
5

106

10− 7 / 2

102

https://dl.doubtnut.com/l/_nwZ3VxWpY0cY
https://dl.doubtnut.com/l/_77HoW1US5TP7


9. If the 6th term in the expansion of  is

5600, then x equals:

A. 1

B. 

C. 10

D. x does not exist

Answer: C

Watch Video Solution

( + x2 log10 x)
8

1

x8 / 3

loge 10

10. If three consecutive coefficients in the expansion of 

are in the ratio 1:3:5, then the value of n is:

A. 6

(1 + x)
n

https://dl.doubtnut.com/l/_5A7U9HJw3ev4
https://dl.doubtnut.com/l/_2hVl8bEfI0Os


B. 7

C. 8

D. 9

Answer: B

Watch Video Solution

11. For integer , the digit at unit's place in the number 

 is:

A. 0

B. 1

C. 2

D. none of these

n > 1

100

∑
r= 0

r ! + 22n

https://dl.doubtnut.com/l/_2hVl8bEfI0Os
https://dl.doubtnut.com/l/_kePVVwrgPHw3


Answer: A

Watch Video Solution

12. The digit at unit's place in  is:

A. 2

B. 4

C. 6

D. 8

Answer: A

Watch Video Solution

29100

https://dl.doubtnut.com/l/_kePVVwrgPHw3
https://dl.doubtnut.com/l/_c6PoAhWYvCVb


13. If in the expansion of  the coefficients of x

and  are 3 and -6 respective then m is

A. 6

B. 9

C. 12

D. 24

Answer: C

Watch Video Solution

(1 + x)m(1 − x)n

x2

14. The coefficient of  in the expansion of: 


 is:

A. 

x53

100

∑
m= 0

100Cm(x − 3)100 − m2m

100C47

https://dl.doubtnut.com/l/_L1P2cNMtSnsH
https://dl.doubtnut.com/l/_1pNQwESJMN1T


B. 

C. 

D. 

Answer: C

Watch Video Solution

100C53

− 100C53

− 100C54

15. The coefficient of  in the expansion of : 


 is:

A. 

B. 

C. 

D. 

x4

(1 + x + x2 + x3)
n

nC4

nC4 + nC2

nC4 + nC2 + nC4 ⋅ nC2

nC4 + nC2 + nC1 ⋅ nC2

https://dl.doubtnut.com/l/_1pNQwESJMN1T
https://dl.doubtnut.com/l/_llkGFAD1f2RV


Answer: D

Watch Video Solution

16. In the expansion of , the coefficient of 

is:

A. 

B. 

C. 210

D. 310

Answer: D

Watch Video Solution

(1 + x + x3 + x4)
4

x4

40C4

10C4

https://dl.doubtnut.com/l/_llkGFAD1f2RV
https://dl.doubtnut.com/l/_Q4A4xWoTwdhm


17. If the sum of the coefficient in the expansion of

 vanishes, then  equals:

A. 2

B. 

C. 

D. 

Answer: C

Watch Video Solution

(α2x2 − 2αx + 1)
51

α

−1

1

−2

18. If , where p is an integer and f is a

proper fraction, then  equals:

A. 

(3√3 + 5)
2n + 1

= p + f

f(p + f)

5n + 1

https://dl.doubtnut.com/l/_RBM257zI2ME7
https://dl.doubtnut.com/l/_RLCOvWDJkEA7


B. 

C. 

D. 

Answer: C

Watch Video Solution

32n + 1

22n + 1

32n + 1

19. The larger of  is:

A. 

B. both are equal

C. 

D. none of these

Answer: C

9950 + 10050 and 10150

9950 + 10050

10150

https://dl.doubtnut.com/l/_RLCOvWDJkEA7
https://dl.doubtnut.com/l/_hGDclp8QPyk9


Watch Video Solution

20. Find the value of x in the expansion of , if the

third term in the expansion is 10,00,000:

A. 10

B. 11

C. 12

D. none of these

Answer: A

Watch Video Solution

[x + xlog10 x]
5

21. Value of  is:2C0 + C1 + C2 + . . . + C10
22

2

23

3

211

11

https://dl.doubtnut.com/l/_hGDclp8QPyk9
https://dl.doubtnut.com/l/_H85TDLaA2X2k
https://dl.doubtnut.com/l/_1kUsnSJszxmN


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

311 − 1
11

211 − 1
11

113 − 1
11

112 − 1
11

22. Sum to  terms of the series: 

 is:

A. 

B. 

C. 

D. none of these

(n + 1)

− + − + . . .
C0

2

C1

3

C2

4

C3

5

1

n + 1

1

n + 2

1

n(n + 1)

https://dl.doubtnut.com/l/_1kUsnSJszxmN
https://dl.doubtnut.com/l/_BHkz19SupKD3


Answer: D

Watch Video Solution

23. If n is an even integer, then: 

 is:

A. 

B. 

C. 

D. none of these

Answer: D

View Text Solution

C 2
0 − C 2

1 + C 2
2 − C 2

3 + . . . + ( − 1)n
C 2

n

2nCn

( − 1)n2nCn

( − 1)n2nCn − 1

https://dl.doubtnut.com/l/_BHkz19SupKD3
https://dl.doubtnut.com/l/_KEJURe51QTpl


24. If , then the

value of : 

 is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 + x)n = C0 + C1x + C2x2 + . . . + Cnxn

C1 + 2C2 + 3C3 + . . . + nCn

n.2n − 1

(n + 2)2n

(n + 1)2n − 1

(n + 2).2n − 1

25. If m,n,r are positive integers such that  then: 


equals:

r < m, n,

mCr + mCr− 1
nC1 + mCr− 2

nC2 + . . . . + mC1
nCr− 1 + nCr

https://dl.doubtnut.com/l/_hWcaFclw1tZV
https://dl.doubtnut.com/l/_NnW0EYC7I7LX


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(nCr)
2

m+ nCr

m+ nCr + mC _ ( r ) + nCr

26. If in the expansion of , the sum of middle terms

is S, then the following is true:

A. 

B. 

C. 

D. 

(2a − )
9

a2

4

S = ( )a14(a + 8)
63

32

s = ( )a14(a − 8)
63

32

S = ( )a13(a − 8)
63

32

S = ( )a13(a − 8)
63

32

https://dl.doubtnut.com/l/_NnW0EYC7I7LX
https://dl.doubtnut.com/l/_dUUcHcMmu6y8


Answer: D

Watch Video Solution

27. The term independent of x in the expansion of

 is:

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

(1 + x)n(1 − )
n1

x

C 2
0 + 2C 2

1 + . . . + (n + 1)C 2
n

(C0 + C1 + . . . + Cn)2

C 2
0 + C 2

1 + . . . + C 2
n

https://dl.doubtnut.com/l/_dUUcHcMmu6y8
https://dl.doubtnut.com/l/_mPZQoGLBWumu


28. The greatest value of the term independent of x in the

expansion of , is:

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(x sin α + x − 1 cos α)
10

, α ∈ R

25

10!

(5!)2

⋅
1

25

10!

(5!)2

29. If the largest interval to which x belongs so that the greatest

term in  has the greatest coefficient is ,

then n equals:

(1 + x)2n ( , )
10
11

11

10

https://dl.doubtnut.com/l/_NttbYACYfrOc
https://dl.doubtnut.com/l/_rxgNupcLzjsf


A. 9

B. 10

C. 11

D. none of these

Answer: B

Watch Video Solution

30. Let  where [ ]

denotes the greater integer function, then Rf is equal to :

A. 

B. 

C. 

D. none of these

R = (5√5 + 11)
2n + 1

and f = R − [R],

42n + 1

42n

42n − 1

https://dl.doubtnut.com/l/_rxgNupcLzjsf
https://dl.doubtnut.com/l/_rrQee8LmGEuK


Answer: A

Watch Video Solution

31. If the coefficients of the middle term of  is p and

the coefficient of middle terms in the expansion of 

are q and r, then

A. p+q=r

B. p+r=q

C. p=q+r

D. p+q+r=0

Answer: C

Watch Video Solution

(1 + x)2n + 2

(1 + x)2n + 1

https://dl.doubtnut.com/l/_rrQee8LmGEuK
https://dl.doubtnut.com/l/_XT5knOYGOkI2
https://dl.doubtnut.com/l/_esmjClmHbLqw


32.  is equal to:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

n

∑
r= 1

(
r− 1

∑
p = 0

nCr
rCp2p)

4n − 3n + 1

4n − 3n − 1

4n − 3n + 2

4n − 3n

33. The term independent of x in the expression of

 is:

A. 

B. 

(1 + x + 2x3)( x2 − )
9

3
2

1

3x

7
18

17
54

https://dl.doubtnut.com/l/_esmjClmHbLqw
https://dl.doubtnut.com/l/_cdXbhiT86Xca


C. 

D. 

Answer: B

Watch Video Solution

+
7
18

2

27

−
7
18

2

27

34. If  and 

for all x and y, , then:

A. 

B. 

C. 

D. none of these

Answer: B

i l i

+ + =
1

1!11!

1

3!9!

1

5!7!

2p

q !
f(x + y) = f(x). f(y)

f(1) = 1, f' (0) = 10

f' (p) = q

f' (q) = p

f' (p) ≠ f' (q)

https://dl.doubtnut.com/l/_cdXbhiT86Xca
https://dl.doubtnut.com/l/_YJqveW789haa


View Text Solution

35. If

then n equals:

A. 99

B. 100

C. 101

D. none of these

Answer: B

Watch Video Solution

(1 + x)
n

=
n

∑
r= 0

arx
r and br = 1 + , and

n

∏
r= 1

br =
ar

ar− 1

(101)
100

100!

36. Find the coefficient of  in the expansion of x6y3 (x + 2y)
9

https://dl.doubtnut.com/l/_YJqveW789haa
https://dl.doubtnut.com/l/_8ylY6a7ACPal
https://dl.doubtnut.com/l/_WyKFI1roYhAG


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4: 2: 1

2: 4: 1

1: 2: 4

2: 3: 4

37. If  stands for , then n equals:

A. 19

B. 20

C. 21

D. none of these

Cr
nCr and

n

∑
r= 1

= 210
r ⋅ Cr

Cr− 1

https://dl.doubtnut.com/l/_WyKFI1roYhAG
https://dl.doubtnut.com/l/_IIPmpSZSNH7I


Answer: B

Watch Video Solution

38. For a positive integer n, 

let  Then:

A. 

B. 

C. 

D. .

Answer: D

Watch Video Solution

a(n) = 1 + + + + . . . +
1

2

1

3

1

4

1

2n − 1

a(100) ≤ 100

a(100) > 100

a(200) < 100

a(200) ≥ 100

https://dl.doubtnut.com/l/_IIPmpSZSNH7I
https://dl.doubtnut.com/l/_h7KlqS5bagAx


39. In the binomial expansion of , the sum of the

5th and 6th terms is zero. Then  equals:

A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

(a − b)n, n ≥ 5

a

b

n − 5

6

n − 4
5

5

n − 4

6

n − 5

40. The value of 

is:

(
30

0
)(

30

10
) + (

30

1
)(

30

11
) + (

30

2
)(

30

12
) + . . . (

30

20
)(

30

30
)

https://dl.doubtnut.com/l/_Vyg1DaCPZNSX
https://dl.doubtnut.com/l/_HfecXrDT4nMQ


A. 

B. 

C. 

D. 1

Answer: B

Watch Video Solution

(
60

20
)

(
30

10
)

(
30

20
)

41. For natural number m, n if

, then (m,n) is

A. (20,45)

B. (35,20)

C. (45,35)

(1 − y)m(1 + y)n = 1 + a1y + a2y2 + . . . . . , and a1 = a2 = 10

https://dl.doubtnut.com/l/_HfecXrDT4nMQ
https://dl.doubtnut.com/l/_nDI6ywthjyRO


D. (35,45)

Answer: D

Watch Video Solution

42. In the binomial expansion of  the sum of 5th

and 6th terms is zero then  equals:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(a − b)n, n ≥ 5,

a

b

6

n − 5

n − 5

6

n − 4
5

5

n − 4

https://dl.doubtnut.com/l/_nDI6ywthjyRO
https://dl.doubtnut.com/l/_aCUrzrFrdI4z


43. If  are coefficients of any four consecutive terms

in the expansion of , then  equals:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a1, a2, a3, a4

(1 + x)n +
a1

a1 + a2

a3

a3 + a4

a2

a2 + a3

1

2
a2

a2 + a3

2a2

a2 + a3

2a3

a2 + a3

44. If n is a positive integer and , then the value of 

 equals:

A. 

Ck = nCk

n

∑
k = 1

k3( )
2

Ck

Ck − 1

n(n + 1)(n + 2)

12

https://dl.doubtnut.com/l/_WJ1d5oj5MX9z
https://dl.doubtnut.com/l/_JT6Bf8Fh7Hj4


B. 

C. 

D. none of these

Answer: D

Watch Video Solution

n(n + 1)
2

12

n(n + 2)2(n + 1)

12

45. If , then: 

 is:

A. 

B. 

C. 

D. 

(1 + x)n = 1 + C1x + C2x2 + . . . + Cnxn

C 2
1 − 2C 2

2 + 3C 2
3 − . . . − 2nC 2

2n

n2

( − 1)n − 1
n

( − 1)n − 1
n. 2n − 1Cn

−n2

https://dl.doubtnut.com/l/_JT6Bf8Fh7Hj4
https://dl.doubtnut.com/l/_BeOSCBvBHFmw


Answer: C

View Text Solution

46. Let n be an odd integer. If  for every

value of , then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin nθ =
n

∑
r= 0

br sinr θ

θ

b0 = 1, b1 = 3

b0 = 0, b1 = n

b0 = − 1, b1 = n

b0 = 0, b1 = n2 = n2 − 3n + 3

https://dl.doubtnut.com/l/_BeOSCBvBHFmw
https://dl.doubtnut.com/l/_p2CVraP5nyml


47. The coefficient of  in the expression: 


is:

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

x50

(1 + x)1000 + 2x(1 + x)999 + 3x2(1 + x)998 + . . . . + 1001x1000

1000C50

1001C50

1002C50

1000C51

48. The last term in the binomial expression of  is 

. Then the 5th term from the beginning is

( 3√2 − )

n
1

√2

( ⋅ )

log3 8
1

3

1
3√9

https://dl.doubtnut.com/l/_ZZjdU4n1QPPE
https://dl.doubtnut.com/l/_OVyQ8eEJE9px


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

10C6

2 ⋅ 10C4

10C4
1

2

49. Let . If  

 are in A.P. then:

A.  are in A.P.

B.  are in H.P.

C. n=6

D. n=14

n ∈ N (1 + x)n = a0 + a1x + axx2 + . . . . + an

xn and an − 3, an − 2, an − 2, an − 1

a1, a2, a3

a1, a2, a3

https://dl.doubtnut.com/l/_OVyQ8eEJE9px
https://dl.doubtnut.com/l/_R9een9Q62goE


Answer: A

Watch Video Solution

50. If the coefficient of rth, (r+1)th and (r+2)th terms in the

binomial expansion of  are in A.P. then m and r satisfy

the equation:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1 + y)m

m2 − m(4r + 1) + 4r2 + 2 = 0

m2 − m(4r − 1) + 4r2 − 2 = 0

m2 − m(4r − 1) + 4r2 + 2 = 0

m2 − m(4r + 1) + 4r2 − 2 = 0

https://dl.doubtnut.com/l/_R9een9Q62goE
https://dl.doubtnut.com/l/_JgYZVlskasZs
https://dl.doubtnut.com/l/_syM4OILCsXYE


51. If the coefficient of  in  equals the

coefficient of  in , then a and b satisfy the

relation:

A. a+b=1

B. a-b=1

C. ab=1

D. 

Answer: C

Watch Video Solution

x7 [ax2 + ( )]
11

1

bx

x − 7 [ax − ( )]
111

bx2

= 1
a

b

52. If x is so small that  and higher powers of x may be

neglected, then  may be approximated

x3

(1 + x)3 / 2 − (1 + x)
3

1
2

(1 − x)1 / 2

https://dl.doubtnut.com/l/_syM4OILCsXYE
https://dl.doubtnut.com/l/_SlSt2pbD5QYb


as:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x + x23

8

1 − x23

8

− x2x

2

3

8

− x23

8

53. If the expansion in powers of x of the function

 is  then 

is:

A. 

B. 

1

(1 − ax)(1 − bx)
a0 + a1x + a2x2 + a3x3 + . . . . an

bn − an

b − a

an − bn

b − a

https://dl.doubtnut.com/l/_SlSt2pbD5QYb
https://dl.doubtnut.com/l/_MlBfWvJJMbnj


C. 

D. 

Answer: D

Watch Video Solution

an + 1 − bn + 1

b − a

bn + 1 − an + 1

b − a

54. The sum of series: 

 is:

A. 

B. 0

C. 

D. 

Answer: A

Watch Video Solution

20C0 − 20C1 + 20C2 − 20C3 + . . . + 20C10

20C10
1

2

20C10

− 20C10

https://dl.doubtnut.com/l/_MlBfWvJJMbnj
https://dl.doubtnut.com/l/_8PKqbzTv6pmn
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Watch Video Solution

55. The remainder left out when  is divided by 9 is

A. 0

B. 2

C. 7

D. 8

Answer: B

Watch Video Solution

82n − (62)2n + 1

https://dl.doubtnut.com/l/_8PKqbzTv6pmn
https://dl.doubtnut.com/l/_Nqo00Y7yc34V


1. For r=0,1, . . . ,10 let  denote respectively, the

coefficient of  in the expansions of : 

. 


Then  is equal to:

A. 

B. 

C. 0

D. 

Answer: D

Watch Video Solution

Ar, Br and Cr

xr

(1 + x)10, (1 + x)20 and (1 + x)30

10

∑
r= 1

(B10Br − C10Ar)

B10 − C10

A10(B2
10 − C10A10)

C10 − B10

2. The coefficient of  in the expansion of 

is:

x7 (1 − x − x2 + x3)
6

https://dl.doubtnut.com/l/_lvh5QSwCDnHE
https://dl.doubtnut.com/l/_hbS0R3nyRVXt


A. 144

B. 

C. 

D. 132

Answer: C

Watch Video Solution

−132

−144

3. If n is a positive integer, then: 

 is:

A. an irrational number

B. an odd positive integer

C. an even positive integer

D. a rational number other than positive integers

(√3 + 1)
2n

− (√3 − 1)
2n

https://dl.doubtnut.com/l/_hbS0R3nyRVXt
https://dl.doubtnut.com/l/_YH9QhpwhgySU


Answer: A

Watch Video Solution

4. The term independent of x in expansion of

 is:

A. 120

B. 210

C. 310

D. 4

Answer: B

Watch Video Solution

( − )
10

x + 1

x2 / 3 − x1 / 3 + 1

x − 1

x − x1 / 2

https://dl.doubtnut.com/l/_YH9QhpwhgySU
https://dl.doubtnut.com/l/_OFenfdHZXqJ6


5. If the coefficients of  in the expansion of 

 in powers of x are both zero, then

(a,b) is equal to:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x3 and x4

(1 + ax + bx2)(1 − 2x)18

(14, )
251

3

(14, )
272
3

(16, )
272
3

(16, )
251

3

6. The sum of coefficients of integeral powers of x in the binomial

expansion of  is:(1 − 2√x)
50

https://dl.doubtnut.com/l/_LgWXwXTFDRtg
https://dl.doubtnut.com/l/_wDFIkSjlxNXP
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A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(350 + 1)
1

2

(350)
1

2

(350 − 1)
1

2

(250 + 1)
1

2

1. If the value of ,

then n is

A. 7

C0 + 2C1 + 3C2 + . . . + (n + 1)Cn = 576

https://dl.doubtnut.com/l/_wDFIkSjlxNXP
https://dl.doubtnut.com/l/_wpSo6QRymalp


B. 5

C. 6

D. 9

Answer: A

Watch Video Solution

2. If  occurs in the expansion of , then is coefficient

is

A. 

B. 

C. 

D. 

xr (x + )
n1

x

n !

(r !)2

n !

(r + 1) !(r − 1) !

n !

( ) !( ) !n + r

2
n − r

2

n !

[( ) !]
2

r

2

https://dl.doubtnut.com/l/_wpSo6QRymalp
https://dl.doubtnut.com/l/_5v7oNHn0qdH9


Answer: C

Watch Video Solution

3. If  are binomial coefficients of order n,

then the value of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C0, C1, C2, . . . . , Cn

+ + + . . . =
C1

2

C2

4

C3

6

2n + 1
n + 1

2n − 1
n + 1

2n + 1
n − 1

2n

n + 1

https://dl.doubtnut.com/l/_5v7oNHn0qdH9
https://dl.doubtnut.com/l/_HEzLEulmcbZb


4. If 215 and 22nd lens in the expansion of  one is equal,

then x is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1 + x)44

21

22

23

24

8

7

7
8

5. If in the expansion of , the coefficial of x and 

 are 8 and 24, than the values of n and p are:

A. n=3,p=2

(1 + px)n, n ∈ N

x2

https://dl.doubtnut.com/l/_qkvtQY5ehRXV
https://dl.doubtnut.com/l/_XAP2Tnw46Tae


B. n=5,p=3

C. n=4,p=3

D. n=4,p=2

Answer: D

Watch Video Solution

6. The middle term of expansion  is

A. 

B. 

C. 

D. 

Answer: D

( + )
10

10

x

x

10

7C5

8C5

9C5

10C5

https://dl.doubtnut.com/l/_XAP2Tnw46Tae
https://dl.doubtnut.com/l/_nXfPylrOv6jM


Watch Video Solution

https://dl.doubtnut.com/l/_nXfPylrOv6jM

